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?- search(Key,Tree,Res), cont (Res,Parm).

search(K,T,CP) :- T=leaf (VV), K = VV |
CPp = found.

search (K, T,CP) :- T=leaf (VV), K \= VV |
CP = not found.

search (K, T,CP) : - T=node (T0,T1) |

search (K, TO0,CPO),
searchl (CPO,K,T1,CP) .

searchl (CPO,K,T1,CP):- CPO = found |
CP = found.
searchl (CP0O,K,T1,CP):- CPO = not found |

search (K, T1,CP) .
cont (CP,Param) : - CP=found | found proc(Param) .

cont (CP,Param) : - CP=not_ found |
not_found proc (Param) .
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?-search(Key,T,Res), Res=cont (Param) .

search(K,T,CP) :- T=leaf (VV), VV = K |
found (CP) .

search (K, T,CP) :- T=leaf (VV), VV \= K |
not found(CP) .

search (K, T,CP) : - T=node (T0,T1) |

search (K, T0,CPO),
CPO=searchl (K, T1,CP) .

found (CP) : - CP=searchl (K,T1,CP0) |
found (CPO) .
found (CP) : - CP=cont (Param) | found proc (Param) .

not_found (CP) : - CP=searchl (K, T1,CP0) |
search (K, T1,CPO) .

not_found (CP) : - CP=cont (Param) |
not_found proc (Param) .
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?-search(Key,T,Res,Res), Res=cont (Param) .

search(K,T,CP,FC) :- T=leaf (VV), VV = K |
found (FC) .

search(K,T,CP,FC) :- T=leaf (VV), VV \= K |
not found (CP,FC) .

search (K, T,CP,FC) : - T=node (T0,T1) |

search (K, TO0,CPP,FC),
CPP=searchl (K,T1,CP) .

found (FC) : - FC=cont (Param) | found proc (Param) .

not_found (CP,FCO0) : - CP=searchl (K, T1,CPP) |
search (K, T1,CPP,FCO) .

not_found (CP,FC) : - CP=cont (Param) |
not found proc (Param) .
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In = node(A, X, node(B, Y, 2)) |
Out = node (B, node (A, X, Y), Z).
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left _rot(In, Out) :- In = node(A, X, BYZ) |
left rot sub(aA, X, BYZ, Out).

left rot sub(A, X, BYZ, Out) :-
BYZ = node(B, Y, Z) |
Out = node (B, AXY, Z),
AXY = node (A, X, Y).
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node (In, A, X, BYZ) :- In = left rot(Out) |
BYZ = left_rot_sub(A, X, Out).

node (BYZ, B, Y, Z) :-
BYZ = left rot sub(A, X, Out) |
node (Out, B, AXY, Z),
node (AXY, A, X, Y).
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?- .., pl(X, s1, Y), p2(Y, 82, Z),
pl(X, S1, Y) :- X = nop (XX) |

Y = nop (YY),
pl (XX, S1, YY).

p2(Y, 82, 2) :- Y
p2(YY, S2, Z).

nop (YY) |
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p2(Y, 82, 2) :- Y
pl (XX, S1, M),
p2(M, 82, 7).

t(s1, Xx) |
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pl(X, S1, Y) :-
Y = h(s2, zz),
pl (XX, S1, M),
p2 (M, S2, 2Z).

X = h(xx) |

p2(Y, B, Z) :- Y = h(s2, 22z) |
S2 B,
Z7Z Z.
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pl(X, A, Y) :- X = s(XX) |
Y = s(A, XX, M, S2, Zz),
p2 (M, S2, ZZ).

p2(Y, B, 2) :- Y = s(S1, XX, M, 82, z2) |
S2 = B,
77 = 7,

pl (XX, S1, M).
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